14% 27% 34% 19% 6%
8% 31% 31% 24% 6%
3% 15% 71% 10% 1%
3% 21% 69% 6% 1%




wln
U'lTO’
X

ol

80 ekF (203 (an)|(B2)2 MR-2XE  |ViB-VBH/2 3(x+1)=x—7{ S PP o33

24% 10% 32% 26% 15% 17% 17% 15% 30% 59%)
12 1 . o Nz _{2“3’:7
573" o |O&R Dyfmbian (x42y)2 DE2XE  |[V-yZ 3|3 x-)=x7 syt PEH EAxHAE
32% % 14% 11% 14% 15% 18% 13% 25% 68%
1 1
12 4
C=FHE | e e=F =, e WE > >
— — = —= — RSP D25 8 =
X 2 —3 3 2
5




51% 62% 49% 34% 48% 2% 520
60% 62% 52% 34% 55% 2% 520
21% 32% 21% 8% 11% 26% 19%
20% 41% 44% 25% 42% 78% 12%
+
8% 40% 50% 2% 0% 10% 21% 66% 3% 0%
27% 35% 36% 0% 2% 0% 11% 84% 5% 0%
S% 35% 30% 24% 6%
22% 33% 28% 13% 4%
11% 29% 30% 25% 5%
4% 22% 29% 25% 20%
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